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Table 4.2.2: Values of the constants and eigenvalues for buckling of laminated

composite beams with various boundary conditions (A2
bNO /Eb I, = (en/a)?). The classical laminate theory is used.

End conditions at
rz=0and z=a

Constantst

Characteristic equation
and values* of e,, = \na

e Hinged-Hinged

> >

o Fixed-Fixed
A
4
o Fixed-Free

r——

o Free-Free

¢ Hinged-Fixed

S

c1#0, co=c3=c4 =0

c1 =1/(sinen — en)

Cc3 = ~1/)\n

cg = —c4 =1/(cose, — 1)
Cl = C3 =0

cg=—c4 #0

C1 = C3 =0

c2#0, cg #0

c1 =1/eqcosen, cg=—1
cog=cq4=0

sine, =0
en = NT

ensine, = 2(1 —cosen)

e, = 27,8987, 47, ---

cose, =0
en =(2n—1)w/2

sine, =0
en = NT

tane, = e,
e, =4.493,7.725, - --

T See Eq. (4.2.28): W () = ¢ sin Ay + ¢ cos A\ + c32 + c4.

*For critical buckling load, only the first (minimum) value of e = Aa is needed.



